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103] 20%% k BB ChEEH&RE)11.28 q
2[ 715340/ = KA 2 (B I = ) 11.41 ¢
31 415552 A4S TEAKER 1 GL{EFREEE) 11.55 q

4 215551 EfG BE2 7R 1 GIfE#EER) 11.78
5[ 1]156804= ik  BE2 (& i & #)12.05
6 5]57585MHIH 1%k 3 (RHEHEMK)12.53
70 61510285 FERER 2 (75 W B &) 12. 99
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[248] ( +0.3 m)

1[ 2]53254% A B5 32 (B T & ) 11.08
2[ 6]551642 A& ﬁéﬁ M3 UhHEEAET) 11,71
3L 7] 1&E B 1 (THEONE)11.76

4 815317 43 I:%Zﬁl OB B & #%)12.03
50 41601442 &% 5L 3} 3 (MEFEERK)12. 83

OP[ 5] 248 & jtﬂﬁl (THHERER 0P)12. 41
[ 116298)50 ®E / A 1 (7 M & #%) Ri5
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[3#8] (  -0.8 m)

10 715311 #B EEJrl (B B & #8)11.36 g
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3[ 6]6012 /7 % #i A 2 CMAFIEER)12. 43
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5[ 8]16297/)N I #k & 1 (6 M = #2)12. 63
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OP[ 3] 23)F)II & Al 1 (F5HEER 0P)12. 11
OP[ 1] 25" & 2K # 1 (FEHERK 0P)12.76

[5#8] (  -1.4 m) (6#8] (  -0.5 m)

1[ 515685/ X HE =} 2 (& W @ %) 11. 64 1[ 715756 7 B £ 3 (REEEARK)11.59
2[ 8]53154 MW FHr1 (B T & B)11. 71 2[ 2] 3B oc A= (hHIRFEERH)11.99
3L 7154718 148 & /& 1 (76 i & 1) 12. 01 3[ 516288/8 (L1 £ IE 1 (75 #i & #)12.27
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6[ 416039%EAS A& 1 (1L b & %) 13.22 OP [ 8150538k A ﬁ*jtz (THIRER 0P)11. 72
OP [ 315693 FF 4+ HIAKA 3 (FHEIAAR 0P)12. 54 OP[ 61626411 1= & K1 (%K 0P)12. 64

(7481 (  +0.2 m) (8#8] (  -1.3 m)
10 7153130 8 % %1 (B & & #£)11.58 1[0 315126/ 8735 Gk 2 (FH 7E & #£)11.52 g
2[ 415475/ % KR # 1 (P8 M & %) 11.85 2[ 515356°F- A H M3 (B & #)11.57
3[ 31604082 ¥ ¥E1 (L b & #)12.08 3[ 2154914 J50 B =3 (7 3 & B 11,71
41 8]62957H Ji &= A= 1 (78 WM & £ 12.85 3[ 7154744 i & 1 (B8 W m BO 1171
OP[ 6]5055%: jE Vi 2 (PZMEAR 0P)11.83 5[ 61567624 & w2PI 1 (1 b & &) 12. 41

[ 5155714 1 7 o 3 (L FRER) K& 6[ 416296 K Fn 1 (V8 A & 1%2)12. 46

[ 2]5307% W K#E1 (8 & & K R5 [ 8]5104% i E 2% 2 (5HEEK) Rig
(948 (  -0.7 m) S

[ 3]52655E it ?732 (CEAR OP)XR1G

[4#8] (  -1.8 m)
1[ 6160137% & 3 753 CMIFEER)11.72
2[ 21600785 A b5 2 2 CPHFEEERK)12.07
3[ 5]5476: B # A1 (8 i & #1214
4 4162554 Fman &A1 GIfEFREER) 12. 26
5[ 8156818 i & K2 (& & #)12.82
6 7160427 A% B2 A1 (L db @& ®)13.17
[ 3153534 JII A #F 3 Ol = & %) Ri5
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10815120/l B2 (8 9 7 BO11.31 0 | goocie o mosto 05 B f K108 40
3L 5J85187C = 43 (MHRIRILT)12.10 35120/ i B FE2 O ¥ A K 1131 0.
41 41629975 A& Bk Sk 1 (7 1 412,13 e s ey '

H )X =] hva AN =] 75 -
S AB3TTRT T #EF1 OB & & £)11.36 -0.

5[0 616321/ & B A1 (& W @& £012.27 5 0 s S ~
o e 553407 & KA 2 (B & & B)11.41 -0.
6[ 215103 il ¥ Jh5e 2 (5 H k) 13.16 65136 B G T o (1 = 421148 -0
OP[ 715694 +f F5 6 3 (FEIMBAR 0P)12. 40 15126/ S A 2 (FE T &)”:52 4
8 5552 AKAT JHARES 1 (AL~ M) 11. 65 -0.
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